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Recurring Decimals to Fractions
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Convert   0.5 to a fraction giving your answer in its simplest form.1 [2 marks]

Answer

Convert    0.71     to a fraction giving your answer in its simplest form.2 [2 marks]

Answer

.
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Convert    0.45   to a fraction giving your answer in its simplest form.3 [2 marks]

Answer

Convert    0.214   to a fraction giving your answer in its simplest form.4 [3 marks]

Answer

Convert    0.324    to a fraction giving your answer in its simplest form.5 [3 marks]

Answer
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Solutions

Convert    0.53     to a fraction giving your answer in its simplest form.6 [3 marks]

Answer

Convert    0.124    to a fraction giving your answer in its simplest form.7 [3 marks]

Answer

Convert    0.423     to a fraction giving your answer in its simplest form.8 [3 marks]

Answer

.
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Convert    0.038   to a fraction giving your answer in its simplest form.9 [3 marks]

Answer

Convert    3.62   to a fraction giving your answer in its simplest form.10 [3 marks]

Answer

Convert    0.3161    to a fraction giving your answer in its simplest form.11 [3 marks]

Answer
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Solutions

Work out   0.68 – 0.27

Give you answer as a fraction in its simplest form. 

12 [5 marks]

Answer

.

Work out   0.53 × 0.16

Give you answer as a fraction in its simplest form. 

13 [5 marks]

Answer

.

. .
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10

Solutions

Work out   0.08 ÷ 3.63 

Give you answer as a fraction in its simplest form. 

14 [5 marks]

Answer

.
Work out    0.296

Give you answer as a fraction in its simplest form. 

15 [5 marks]

Answer

. . .
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